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Time: 2:30 Hrs. : Marks: 73
e All questions are compulsory.
o Use case lziWs wherever required.
Q.1. Answer in not more thm-:-two‘sentenc-es (Any six): (12 Marks)
a. Define Public Servant. |
b. Define Kidnapping from lawful guardianship.
c. Name any two persons who were part of the commission that framed the IPC.
d. Define Abetment.
e. What is dowry death.
f. Define Document ﬁs per IPC.
g. What is the difference in punishment for culpable homicide and murder?
h. State any two examplés of mischief.
Q.2. Write Short notes on (Any two): | (12 Marks)
a) Exception of necessity. ' |
b) Begging as per IPC
¢) Bigamy
d) Dacoity
Q.3. Solve Any Two (With reasons): . (12 Marks)
a, ‘ .A strikes B his classmate, injuring his elbow. Due to his B is unable to attend college for three

weeks as he is unable to write due to his painful elbow.

i.  What offence would A be guilty of?

ii. How is a dangerous weapon defined in the [PC? .~

b. Sham who is suffering from a terminal illness asks his son Ramu, to procure poison and give it

to him as he cannot bear the pain. His son out of love for his father, does so. Sham dies.
i.  What offence is Ramu guilty of? _
ii.  If Sham himself had procured poison and consumed it, but survived, would he be guilty of
any offence and if so what would be the punishment?
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¢. Ricky repeated sends love messages to Rita in spite of Rita clearly stating to him that she 1s no.

interested in him.

i.  Is Ricky guilty of any offence?
ii. Would any other offence be revealed if Ricky sends vulgar videos to Rita?

d. Rohit pours hot water on an ice sculpture decorating the salad counter at Jay’s party.
i.  Is Rohit guilty of any offence?
ii.  If Rohit while leaving the party gets into a fight with some other guests on the road and
creates a big commotion, what would be the offence?

Q.4. Answer in Detail (Any three): 39 marks)

a) Discuss in detail ‘Actus non facit reum nisi-mens sit rea’.

b) What are the kinds of punishment permitted under the IPC. Discuss in detail solitary
confinement and imprisonment in lieu of fine.

¢) Discuss the changes brought about by the Criminal law Amendment act 2013.

d) Write in detail about the offence of Criminal Trespass and all the variations thereof.

e) Elaborate on the Offences relating to elections.
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